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AABCIZBWT, a=2, b=+/6, B=60°DL %, ¢ &RkD L, AABCIZHEWT, sind :sinB :sinC=5:8:7D& %, RDEDEKRD &, ROFADNKDILDE X, ANABCIRED IS BFEE L TWEMN,
1) a:b:c (1) bsin B=c¢sinC

2) AABCOWHADI L, 2FBBHIZRKIVADKE X (2) acosA +bcosB =ccosC
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S ABCIZBVT, a=5, b=T, c=4 THBA5HE, cosA=| |, MIZP#ET A ABCD I28WT AB=2, BC=4, CD=3, DA=3 TH5 LT 5. |£DHND &> LMWEAK OABC #%Y), 35004, OB, OC A
RDOEDERKD L, IFEWIEET, OA=3, OB=2, OC=1ThH%,
sinA:‘D THY, zﬁaﬁﬁmommﬁsz;ﬁmf\mo ZULT, =A% (1) BDOEX (@) mfa¥ ABCD Otk ) Z OB V % kb k.
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’ ° 3) THE ONSFHEABCATALLEROHDEYEK
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